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Note: (i) Answers may be written either in
English or in Hindi; but the same
medium should be used throughout the
paper.

(i1) The maximum marks printed on the
question paper are applicable for the
students of the regular colleges
(Cat ‘A’). These marks will, however, be
scaled up proportionately in respect of
the students of NCWEB at the time of
posting of awards for compilation of
result.

feawht: () @ v @ s oS @ R i
gy 7 AT, AT w3 W owem T
& e =ifew

5242 1 P.T.O.



(i) wewE W eieA e PR s
(St <Ay & Taenferal & few arpied €
T & i, NCWEB o faanfaal % Haw o
T WU & wwed & fow HgE
afufnta & wma W, 3% Srgfas ¥ °
fer B |

Atiempt any five questions.
All questions carry equal marks.
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1. List and define various measures of National
Income. Show the relationship between Gross
Domestic Product, Net Domestic Product and Net
National Product. - 10,5
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2.  What do you understand by a consumption
function ? What are the factors affecting
consumption function ? How will consumption

spending change if government were to raise
taxes ? 10,5
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3. What do you understand by Government
Expenditure Multiplier ? How will an increase in
government expenditure change the equilibrium
level of National Income ? 10,5
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4. Given the following data :

Consumption (C) =100+ 0.75(y - T)
Government Expenditure (G) =¥ 75 ¢r.
Investment (I) =¥ 40 cr.

Taxes (T)=T 40 cr.

Exports (X) =3 30 cr.

Imports (M}=5+005(y-T)

Find

(a) Equilibrium level of income

(b} Equilibrium level of consumption
(¢) Equilibrium level of savings

(d) Disposable income

(e) Netexports 15
frefefaa o €

ST (C)=100+0.75 (v - T)
Tl = (G)=% 75 cr.

fFaw () =% 40cr.

F(T) =T 40 cr.

i (X)=%30cr.
AAA(M)=5+0.05(y-T)
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Show the effects of an expansionary aggregate
demand shock on the price leve! and real income,
both in the short and long run. 15
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Show the derivation of LM curve. How will
equilibrium change in case of an expansionary
monetary policy ? 5,10
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(a) Discuss Fishers’ wversion of Quantity
Theory of Money.

(b) Explain speculative demand for money. 10, 5
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Write short notes on any two :
{(a) Determination of exchange rates.

(b) Credit creation in a single bank economy
using ratios approach,

(c) Balance of Payments. 7.5,7.5
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